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H &0l & AHS E Al A

S SRR
B HESAHE 29

=gk ”Ei:*;}il%g (Gt mS)
A -3 - A(31) - HFPAE - BES Oft &+ DI Hus2
EENPNIL, 3,085,318 2,584,585 470,733
AYSANHYH 29 2,768,704 2,297,971 470,733
MERR 2 1,838,800 1,485,524 353,276
e =X 2E 47,056 33,780 13,276
401 AIEHI RO 13,276 0 13,276
01 A& 13,276 0 13,276
Ost==Xial2 ARia 8201 13,276 0 13.276
HEXNSAL 72 744,720 404,720 340,000
401 A2 0HBI 390,000 50,000 340,000
01 AlZHI 390,000 50,000 340,000
O=&el HeRigdy Ald22 250,000 0 250,000
OCEMZEESHH 52F 2+ 90,000 0 90,000
Atz 929,904 812,447 117,457
A 22 702,171 584,714 117,457
201 et2gl| 463,829 417,872 45,957
2 S=5=2g8l 381,225 335,268 45,957
Og&d 3N 22,000 0 22,000
OSEAL CCTV =IHE X 6,137 0 6,137
OS3AF HiHAl MG 17,820 0 17,820
401 AlEHIZ 2| 219,500 148,000 71,500
01 A& 219,500 148,000 71,500
OSZA 458 =S¢ 283 71,500 0 71,500
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H £ 0l & AH S & Al

FA el
B YRS TAZH
el FRSAME EEREE))
2A - 38 R(31H) - AIFAL - BES Ofl &4y o3 Hlusz
AP B 1,882,113 1,692,113 180,000
MEE SAIZ 1,284,880 1,094,880 190,000
FOI=E ALY 1,032,500 842,500 190,000
Sgiec] Bz 23 A 80,000 0 80,000
401 Al2HI LRI 80,000 0 80,000
01 A& 80,000 0 80,000
O=dz 2= 80,000 0 80,000
Lie2e] A=4X3At 110,000 0 110,000
401 Al2HIZ 21| 110,000 0 110,000
01 Al&HI 110,000 0 110,000
OA=LI 110,000 0 110,000
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